AP CalculusBC
Lesson 2.4 Openers Part 1: Limit Definition - Linears

1. If f(x) = 3x + 4, then f(2) = 10.
How closeto X, = 2 must we hold x to be sure that f lies within
a 2unitsof y, =107
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Estimate graphically and confirm algebraically.

2. 1f f(x) = 4x - 6, then f(3) = 6.

a) Let £=001. Findavalue 0>0 for which [x-3<d=|f(x)-f<¢.

b) Foryour J, provethat 0<|x-3<d=|f(x)-f<e.
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3. Giventhefunction f(x)= Jx shown at right:
Find avaluefor & such that i
x-4/<do=|f(x)-2/<03 . R B
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4. Theformal definition of lim f (x) =L isgiven asfollows:

Oe>0, 00>0 suchthat 0<|x-a|<d=|f(X)-L|<e

Explain this definition visualy.

5. Usetheforma d-¢ definition to prove that Iirr31(—2x+5) =-1.



